

Name:

period:

The following is a coded message. To crack the code you must find the cipher key. The cipher is a number code which can be found by rearranging the boxes below. The boxes must be arranged three across and four down so that the equations with the same solution touch each other. The code tells you how many letters to move forward in the alphabet. For example if the code was $\frac{537}{610}$ and the message was 'Oex wxpcbk ndxo fl ngin' We would count forward 5 letters for the O to get T. 3 letters forward from e to get h and 7 letter forward from x (starting at a again one we passed z) to get 'e'. The next letter we shift forward by 6 from w to get c. The upper left box is the the one with '*' on either side of it. The boxes may be rotated so the number may not be upright.

This will get you started.

Good luck

Sau qsatx ea s eqhrgwb hl djl hn flkxz rnfyiy jo pyoz igx qikldk qn ac sau dvtzl qiv psmuhhidw yywpr bj aggbxi jf igx mjmac uu ngauxh. - D. F. Wdkiowxm

99- = 1 - xg 4x + -2 + 3x = 89 10 9 = x 19x - 7 = 31	$\frac{21}{5} = \frac{9}{(\frac{2}{3} + x)}$ $\frac{9}{\frac{2}{3}} = \frac{9}{(\frac{2}{3} + x)}$ * 1 * $\frac{(x - \frac{7}{2})}{20} = \frac{-13}{40}$ 35 = 6(x + $\frac{13}{2}$)	54- = 6 + x$\frac{2}{6}$ 91 = x 5 $\frac{(x-7)}{7} = \frac{-41}{42}$ 7(x + $\frac{8}{3}$) = 14
$(7 + x)\frac{3}{2} = \frac{3}{28}$ 7x + 11 = 8x + 5 11 $\frac{(x+10)}{20} = \frac{43}{80}$ 2x + -14 + 4x = 70	81 + x11 = 18- 27 - x8 = 11 - x7 8 24 = 8(x - 11) $1x + 7 + 3x = \frac{37}{3}$	91 + x9 = 8- $\frac{2}{63} = \frac{2}{63}$ 7 x = -14 $\frac{(x+\frac{1}{2})}{5} = \frac{1}{2}$

This page contains the solution to the puzzle.